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Classify (name) the following polynomials by number of terms:
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We also classify polynomials by O{e O\ e

The largest \QXD“E)NW\‘lT of a polynomial determines the degree
of the polynom1al

Largest Exponent Name Example —_
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Classify (name) the following polynomials by degree.
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Fill in the following table:

Polynomial Polynomial Largest Degree Coefficients
Classification | Exponent | Classification
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The order of a polynomial is important.

We organize a polynomial in S Lu n 0{ a.rd . p@ rMWhich means

that the terms are placed in 3N AN A, order from largest

degree to smallest : (
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Circle the following polynomials that are ordered in standard form. Rewrite
the others in standard form:
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Just because a polynomial is NOT written in standard form, does not mean it is
not a polynomial.

This means there are polynomials which are E Q u \ V A \'Q, ﬂ_ﬁthe

same value) as each other but written in different orders.

Create an equivalent polynomial for each of the following;
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